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1. Which keyword is used for function in python language ?
(A) Function (B) Def (C) Fun (D) Define

2. Which type of programming does python support ?
(A) Object Oriented programming (B) Structured programming

(C) Functional programming (D) All of the mentioned

3. What will be the output of the following Python code ?
X = 'abcd'

for i in range (len(X)):

print(i)
(A) abcd B) 0123
(C) abcd (D) 1234

4. What arithmetic operators cannot be used with strings in python ?

A * B) - c) + (D) All of the mentioned

5. What will be the output of the following python code ?

a={3,4, 5}

b={5,6, 7}

alb

(A) Invalid operation B) {3,4,5,6,7}
€) & (D) 8,4,6,7

6. What are the two main types of functions in Python ?
(A) System function
(B) Custom function
(C) Built-in function and user defined function

(D) User function
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What is the output of this expression, 3*1**3 ?

(A) 27 (B) 9 (C) 3 (D) 1

What will be the output of the following python statement ?

Va7+HbH+lCV
(A) ,abc, (B) vav_l_ubu_l_lcv
(C) a+b+c (D) None of the above

What will be the output of this code ?
import math
abs(math.sqrt(36))

(A) Error (B) -6 (C) 6 (D) 6.0

Which of the following is the truncation division operator in python ?

(A) % B) // €/ (D) |

What will be the output of this statement ?
def my_function( ):

print("my world")

my_function( )

(A) my world (B) Error

(C) "my world" (D) None of the above

What will be the output for the following code ? Import numpy as np.
a=np.array ([1, 2, 3]) print a

(A) 1, 2, 3]] (B) 1,2,3 (C) [1, 2, 3] (D) Error
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13. What will be the output of the following python code ?
1=2
while True :
if i%3==0:
break
print(i)
i+ =2

(A) 246810.. (B) 24 (C) 56 (D) error

14. What will be the output of the following python code ?
a={#4, 5, 6}
b={2, 8, 6}
a—b
(A) @, 5
(B) {6}
(C) Error as unsupported operand type for set data type

(D) Error as the duplicate item 6 is present in both sets

15. Which of the following character is used to give Single-line comments in Python ?

A // (B) # (€) ! D) /*

16. Which one of the following is the correct extension of the Python file ?

(A) p (B) .python (C) .py (D) None of these

17. Which one of the following is not a keyword in python language ?
(A) if (B) for (C) while (D) sum

18. Is Python case sensitive when dealing with identifiers ?
(A) No (B) Yes

(C) Machine dependent (D) None of the mentioned
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What does 374 evaluate to ?

(A) 81 (B) 12 (C) 0.75 (D) 7

What will be the output of the following python expression if X=56.236 ?
print ("%.2f"%X)
(A) 56.236 (B) 56.23 (C) 56.0000 (D) 56.24

What will be the output of the following Python code ?
i=1
While True :
if i% 3==0:
break
print(i)
it=1
A) 123 (B) Error

(C) 12 (D) None of the mentioned

What will be the output of the following Python code ?

d={0:'a',1:'b', 2:'c'}

foriin d:
print (i)
(A) 012 (B) abc
(C) 0alb2c (D) None of the mentioned

What will be the output of this statement ?

for X in range (6) :

print (x)
(A) 0123456 (B) 012345
(C) 123456 (D) None of the above
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24. What will be the output of the following python statement ?
print(new’, line’)
(A) Error (B) Output equivalent to print new\nline'

(C) newline (D) new line

25. In Python language, numpy stands for ?
(A) Numbering Python (B) Number in Python
(C) Numerical Python (D) None of the above

26. What will be the output of the following python code snippet if x=1 ?
x<<2

(A) 8 (B) 2 € 1 (D) 4

27. Which of the following is an invalid statement ?
(A) abc=1,000,000 (B) abc=1000 2000 3000
(C) a, b, c=1000, 2000, 3000 (D) a_b_c=1,000,000

28. Which of the following functions is a built-in function in python ?
(A) seed() (B) sqrt( )
(C) factorial( ) (D) print( )

29. What will be the output of the following python expression ? round (8.576)
(A) 8 (B) 8.6 ) 9 (D) 8.5

30. Which of the following statements is used to create an empty set in Python ?

A () (B) [1] (C) Set () (D)

-00o0-
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SPACE FOR ROUGH WORK
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